
Aisle Be Back

Can you write a word problem of your own, for your friend to answer on the back of this 
sheet?

Can you solve the following words problems?

Manu is making chocolate brownies. He needs to buy 170g of plain flour and 
80g of cocoa powder.
How many boxes are left on the shelf?

Klara has £5. She spends £2 on milk and 55p on bread.

How much money does she have left?

There are 132 boxes of cereal on the shelves. 68 boxes are sold. 

How many boxes are left on the shelf?

The tea bags were on offer. Stig bought 300 tea bags. 
He gave Sten 135 tea bags.

How many did Stig have left?

There were 305 magazines on the shelves. 115 magazines were sold.

How many magazines were left on the shelves?

The freezer aisle needs cleaning. 420cm has already been cleaned. 
The aisle is 950cm altogether.

How much more needs cleaning?

Stig has £3 and 50p to spend. Sten has £2 and 20p to spend.

How much money do they have altogether?

The old deli counter was 214cm long. The new deli counter is 345cm long.

What is the difference between the two measurements?

Granny picked up a bunch of bananas weighing 300g. 
She wanted more, so picked up another 180g.

What did the bananas weigh altogether?

Klara spends £2 and 20p more than Stig. Stig spends 50p. 

How much does Klara spend?
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